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KFFE 24697t WwYNEITH 8% 215
RFFE 24711 B DA WYNEITH 8% 138
AFFE 2473% b8 WUNEATH 8% 85
RFFE 2473Ftth D41 WPYNEITH 8% 35
KFFE 2473 H D51 WYNEAITH 8% 9=
RFFE 2500F D1 WYNEITH 1% 15
KFFE 2503F D2 WYMNEATHE IS 25
RFFE 251402 WPYNEITH 4% 405
KFFE 2514F D3 WYNEITH 4% s
RFFE 25161t WYNEITH 4% 345
KFFE 2516F #1012 WUNEATH 4% 358
RFFE 2516&h 14 WpYNEITH 4% 325
AFFE 2518 1h )2 WUNEATH 4% 5%
KFFE 2518F D4 WYNELTHE 4% 15
AFFE 2518F D10 UM EAITH 4% 305
RFFE 2518Fth 11 WYNEITH 4% 35
AFFE 2519 th D4 WUNEATH 4% 15
RFFE 2519106 WPYNEITH 4% 65
KFFE 2519%F D8 WYUNEAITH 4% =
KFFE 251911 WPYNEITH 5% 5
KFFHE 251913 WYMNELTH 5% 115
RFFE 2519& D15 WPYNEITH 5% 145
AFFE 2519F#h (21 YA EAITH 5% 125
RFFE 251981 0D 24 WYNEITH 4% 128
AFFE 252081 WwYUNEAITH 1% 15
RFFE 2520%tth WPYNEITH 2% 15
KFFE 2520%F 1 D8 WwYUNEAITH 5% 1=
KFFE 252010 WYNEITH 3% 55
RFEFE 25202 #1125 WYL EATH 5% 165
RFFE 2520%1th ()36 WPYNEITH 4% 235
AFFE 2520F D37 WYUANEATH 4% 225
RFFE 252081 038 WYNEITH 4% 198
RFEFE 2520 th D45 WYL EATH 2% 255
RFFE 2520%th D51 WPYNEITH 3% 95
KFFHE 252069 WYMNEATH 3% 15
KFFE 25201 D78 WYNEITHE 5% 178
KFFE 2520% 1 (D94 WYUNEITH 4% 258
KFFE 252081 D97 WPYNEITH 6% 15
RFFE 2520FthD112 WUNEATH 2% 65
RFFE 25201t 0> 139 WPYNEITH 5% 185
AFFE 2520Fth D145 WUYUNEATH 1% 105
KFFE 2520 10> 145 WPYNEITH 2% 128
AFFE 2527812 WUNEATH 1% 5%
RFFE 2533F D1 WPYNEITH 3% 355
AFFE 2537FH D1 YA EITH KES 245
RFFE 2537 D1 WYNEITH 3% 2715
KFFHE 2537F D2 WPYMNEITH 3% 205
RFFE 253812 WPYNEITH 3% 185
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KFFE 2538Ftth D4 WwYNEITH KE:S 148
RFFE 2584 %2 WYNEITH 1% 108
AFFE 2652& )7 WUNEITH 1% 15
RFFE 266614 WPYNEITH 1% 28
KFFE 2666 tth D4 WYNEITH 1% 3=
RFFE 2666 D4 WYNEITH 1% 45
KFFE 2666F D4 WYMNESTH 1% 58
RFFE 26701t WwYNE2TH 5% 168
KFFE 2670FHh D1 WYNEITH 2% 1=
KFFE 2670 D1 WYNEITH 2% 25
KFFE 2670FH D1 YA EITH 2% 205
RFFE 2670F D1 WYNEITH 2% 228
KFFE 2670 #h D36 WYMNE2TH 2% 65
KFFE 26701 038 WwYNE2TH 2% 335
KFFE 2670FHh D79 WwYNE2TH 5% 278
RFFE 26701 D80 WwYNE2TH 5% 158
KFFE 2670 #h D85 WYMNE2TH 4% 128
RFFE 2670%1h )93 WYNE2TH 18% 28
KFFE 2670 h 098 WwYNE2TH 5% 208
RFFE 2670 H10D122 WwYNE2TH 3% 188
KFFE 2670124 WYMNE2TH 3% 178
RFFE 2670 0> 130 WYNE2TH 2% 3=
KFFE 3303F (D121 WwYNE2TH 1% 128
RF R BE 1511 WPYNETTH 10% 65
RF i f 155108 WYUNEITH 6% 3=
KREF s 15012 WPYNETTH 6% 85
RF i pE 711 WYHNEETH 168 15
KREF s 13%H#h12 WYNETTH 8% 65
KRBk 13851133 WYMRETTHE LS 8=
KFRBE 13%1th34 WwYNETTH IES A=t
KRBk 13851137 WYMNETTHE IS 35
KF R BE 13%1h38 WYNETTHE 1% 15
KRBk 13851140 WYMNETTHE 67 155
RFRBE 13%1h42 WYNETTH 6% 135
K= R BE 1385145 WYMNETTHE GES 15
KF R BE 13%1h49 WPYNETTH 1% 138
KR BE 1385151 WYNETTHE 6% 55
KFRBE 13% 1159 WPYNETTH 1% 128
KRBt 13851160 WYMNETTHE IS 1=
KRBk 13%1h61 WwYNETTH 6% 6=
KRBk 13751166 WYMNETTHE LS 25
RFRBE 13%1h80 WPYNEETH 16% 138
KRBt 13751184 WYMNETTHE CES 55
Rt 1432 WpYNEETH 17%& 135
K= R BE 20 D8 WYMNEETH 14% 15
RFRBE 20& 10 WPYNEETH 15% 45
KR BE 20 HID10 WYMNEETH 15% 58
RF s 20& D10 WPYNEETH 15% 6=
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KRBk 20 HID15 WYMNEETH 15%& 12
RF st 20%&Hh D34 WPYNEETH 10%& 185
KR BE 20 D54 WYMNEETH 1% 15
KREFf 20&Hh D57 WPYNEETH 9% 3=
KRBt 20% (D58 WYMNEETH 1% 28
RF s 20%Hh D59 WPYNEETH RE:S 35
RFmpE 20%Hh D60 WUNEETH 1&E 58
REF s 20 D61 WpYNEETH RES 6=
KRBk 20F (D62 WYMNEETH 1% VA=
REFf 20%&1Hh 63 WYNEETH RE:S 85
KRBk 20% D64 WYMNEETH 1& 95
KRF s 20&Hh D65 WpYNEETH 8% 2=
RF b 20&Hh D67 WYUHNEETH 8% 58
KREF s 20%&1h )68 WYNEETH 8% 65
KRBk 20D 1 WYMNEETH 8% 128
KRF s 20&Hh D72 WPYNEETH 8% 1Me
KRBt 20 D74 WYMNEETH 1% 28
KRt 20&Hh D78 WPYNEETH 1% 168
KRBk 20 HIDT79 WYMNEETH 1% 138
KRF s 20%1h 80 WPYNEETH 1% 1Me
KRBt 20 (D81 WYMNEETH 1% 8=
KRt 20%&Hh 83 WPYNEETH 9% 6=
KRBk 20% D84 WYMNEETH 9% VA=2
RF s 20&Hh 87 WPYNEETH 9% 178
KR BE 207 D88 WwYMNEETH 0% 165
KREF s 20%1h >89 WPYNEETH 9% 148
KRBt 20Z D90 WYMNEETH 0% 128
KREF s 20 H D91 WYNEETH 9% 1"Me
KRBk 20F D93 WYMNEETH 10%& 35
RFef 20&Hh D94 WYNEETH 10%& 45
KRBk 20%H1 D96 WYMNEETH 10%& 65
KREF s 20&Hh D97 WYNEETH 10%& 85
KRBk 20% (D98 WYMNEETH RE:S 1=
REF s 20%&1Hh )99 WPYNEETH RES 125
K= R BE 20 D101 WYMNEETH 1% 138
KF R BE 21&Hh D12 WYNESTH 15% 208
KR BE 21 HD13 WYMNESTHE 15%& 218
RF s 21&Hh D14 WYNESTH 15% 235
KRBt 21F&H#D15 WYMNESTH 15% 242
KRt 21&Hh D16 WPYNESTH 15% 255
KRBk 21FHD17 WYMNESTHE 15%& 265
KRF s 21&Hh 18 WYNESTH 15% 295
KRBt 21 H# D20 WYMNESTHE 16%& 138
Rt 21 H D21 WYNESTH 16%& 148
K= R BE 21 D22 WYMNESTHE 16%& 158
KRF s 21%&Hh D23 WYNESTH 16% 165
RF i f 21&H D25 WYNESTH 16%& 58
RF s 21&Hh D27 WYNESTH 162 6=
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KRBk 217 D28 WYMNESTHE 16%& VA=1
RF st 21%&Hh D29 WYNESTH 16% 85
KR BE 21 H# D30 WYMNESTHE 16%& 95
KREFf 21 H D31 WPYNESTH 15% 1=
KRBt 21 D32 WYMNESTHE 15%& 28
RF s 21%&Hh D33 WYNESTH 15% 35
KR BE 21 D34 WYMNESTHE 15% 58
REF s 21&Hh D35 WPYNESTH 15% 6=
KRBk 2171 D36 WYMNESTHE 15% VA=
REFf 21&Hh D37 WYNESTH 15% 85
RF b 2138 YA EETH 3% 15
KRF s 21%&Hh D39 WpYNEETH 3% 2=
K=k BE 21FH# D40 WYMNEETH 3% 3=
KF R BE 21FH D41 WYNEETH KES 45
KRBk 21 D42 WYMNEETH 3% 58
KRF s 21&Hh D43 WPYNEETH 3% 65
KRBt 21 D44 WYMNEETH 3% VA=1
KRt 21 & D45 WPYNEETH 3% 9=
KRBk 21 H D46 WYMNEETH 3% 108
KRF s 21%&Hh 48 WPYNEETH 3% 235
KRBt 21749 WYMNEETH 3% 228
KRt 21&H#h D50 WPYNEETH 3% 255
KRBk 21 H D51 WYMNEETH 3% 262
RF s 21&Hh 52 WPYNEETH 3% 2715
KR BE 21 D53 WwYMNEETH 3% 288
KREF s 21&Hh D54 WPYNEETH 3% 295
KRBt 21 D55 WYMNEETH 3% 308
KREF s 21%&Hh D56 WYNEETH 3% 3=
KRBk 21FH D57 WYMNEETH 3% 325
RFef 21&Hh D58 WYNEETH 3% 335
RF i f 21068 WwYUHNEETH 4% 35
KREF s 21%&Hh 69 WYNEETH 4% 55
KRBk 21FH#D70 WYMNEETH 4% V=3
REF s 21&Hh D74 WPYNEETH 4% 165
K= R BE 21 HDT5 WYMNEETH 4% 158
KF R BE 21&H D77 WYNEETH 4% 138
KR BE 21 D79 WYMNEETH 5% 12
RF s 21%&H#h D80 WYNEETH 5% 35
KRBt 217 D81 WYMNEETH 5% 45
KRt 21%&Hh 82 WPYNEETH 5% 55
KRBk 21783 WYMNEETH 5% 68
KRF s 21%&Hh 84 WPYNEETH 5% 95
KRBt 21 H D92 WYMNEETH 6% 58
Rt 21&Hh D97 WpYNEETH 12% 1=
K= R BE 24F D34 WYMNESTHE 10%& 9=
KRF s 24%Hh 35 WYNESTH 10%& 85
KR BE 24F D37 WYMNESTHE 1& 11E
RF s 24%Hh 38 WYNESTH ES 108
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193| K= iR e 24F D40 WYMNESTHE 13%& 185
194| K= iR It 24 D41 WYNESTH 13%& 198
195| K= iRk Bk 24F D44 WYMNESTHE 13%& 105
196| X =F ik It 24FHh D45 WPYNESTH 13%& 15
197| K= iR BE 24FH1 D46 WYMNESTHE 13%& 135
198| KX=F ik 5t 24%Hh )58 WYNESTH KES k=
199| K= ik Bk 247 D59 WYMNESTHE 3% 125
200| K=F ik Bt 24FHh )62 WPYNESTH 3% 265
201 | KF i3t 24F1th D64 WYMNESTHE 14% 115
202| K=F ikt 24FHh 65 WYNESTH 14% 138
203| KRF i 45t 241 0)66 WYMESTH 14% 148
204| KF ik Bt 24F&Hh D67 WYNESTH 14% 155
205| K=F i3t 247 D68 WYMNESTHE 14% 165
206| K=F ik Bt 24%1Hh )69 WYNESTH 14% 185
207 | K=F i3t 24F D70 WYMNESTHE 14% 15
208| K=F ik Bt 24/ D71 WYNESTH 14% 25
209| K=F i I3t 24FHh D72 WYMNESTHE 14% 45
210| KF it 24FH D73 WPYNESTH 14% 55
211 | KF i3t 24FEh D74 WYMNESTHE 14% 6=
212| KF Bt 24 D75 WYNESTH 14% =
213| KF i3t 26FH1 D23 WYMNESTHE 10& IA=s
214| KF Bt 26%&Hh 24 WPYNESTH 10%& 65
215\ KF i3t 26F (D25 WYMNESTHE 10& 55
216| KF it 26%&1Hh )26 WYNESTH 10%& 45
217| KF i3t 26 D27 WYMNESTHE 10& 35
218| KFix Bt 26%&1Hh 28 WYNESTH 10%& 25
219\ KF i3t 2671 D29 WYMNESTHE 10%& 15
220| KF ikt 26%& 130 WYNESTH 1% 85
221| RF 45t 26 D31 WYMESTH RE: 6=
222| KF it 26%&Hh 32 WYNESTH 1&E 55
223| KF i3t 267 H1D33 WYMNESTHE 1& 45
224| KF it 26%& 34 WYNESTH RE:S 35
225| KF iRt 26 H D35 WYMESTH 1% 15
226| KFix Bt 26%&1Hh 036 WYNESTH 13%& 205
227\ KF i3t 26 D37 WYMNESTHE 13%& 215
228| KF ikt 26%&1h 38 WYNESTH 13% 235
229\ K=F i3t 2671 D39 WYMNESTHE 13% 245
230| KF i Bt 26%&Hh 40 WYNESTH 13% 25%
231 | KF i3t 267 H1 D41 WYMNESTH 13%& 265
232| KF it 26&Hh D42 WPYNESTH 13%& 2715
233| KF i3t 26FthD44 WYMNESTHE 13% 45
234| KF i Bt 26 45 WYNESTH 13%& 55
235| KF i i3t 267 H1 D46 WYMNESTHE 13%& 65
236| KF it 26 D47 WYNESTH 13%& 85
237| KF i3t 26F D48 WYMNESTHE 13%& 95
238| KF i Bt 26 D51 WYNESTH 13% 35
239| KF i3t 267 H1 D55 WYMNESTHE 16%& 188
240| KF ik Bt 26%&1Hh )56 WYNESTH 16%& 205
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KRBk 267 HID61 WYMNESTHE 16%& 178
RF st 26%&Hh D67 WYNESTH 17%& 65
KR BE 2671 D68 WYMNESTHE 16%& 15
KREFf 26%1Hh 069 WPYNESTH 162 3=
KRBt 26 D70 WYMNESTHE 16%& 4=
RF s 26 D73 WPYNEETH KES 1"Me
KR BE 26 D74 WYMNEETH 3% 128
REF s 26 D75 WpYNEETH 3% 138
KRBk 26 HID78 WYMNEETH 3% 218
REFf 27%&Hh D49 WYNESTH 1% 15
KRBk 27 D50 WYMNESTHE LS 65
KRF s 27 HD51 WYNESTH Ik 58
K=k BE 27FH D52 WYMNESTHE 1% 3E
KREF s 27%&Hh D54 WYNESTH 1% 145
KRBk 27 H D55 WYMNESTHE 1% 218
KRF s 27%&Hh D56 WYNESTH 1% 205
KRBt 271F# D57 WYMNESTHE 1% 178
KRt 27%&Hh D58 WPYNESTH 8% 8E
KRBk 27FH D59 WYMNESTHE 8% VA=2
KRF s 27%& D60 WYNESTH 8% k=2
KRBt 27 H D61 WYMNESTHE 8& 28
KRt 27%&Hh D62 WPYNESTH 8% 55
KRBk 27 D63 WYMNESTHE 8% 9B
RF s 27%&Hh D64 WYNESTH 12% 1Me
KR BE 27 D65 WYMNESTHE 12% 108
KREF s 27%&Hh 68 WYNESTH 1% 128
KRBt 271FEHDT3 WYMNESTHE 4% V=3
KREF s 27 D74 WYNESTH 4% 1"Me
KRBk 271FHDT6 WYMNESTHE 4% 15
RFef 27&H D77 WYNESTH 4% 35
KRBk 271FHDT8 WYMNESTHE 4% 55
KREF s 27%&Hh 83 WYNESTH 9% 1"Me
KRBk 27F D84 WYMNESTHE 0% 145
REF s 27&Hh D85 WYNESTH 9% 155
K= R BE 27FH1 D86 WYMNESTHE e 165
KEF s 27&Hh D87 WYNESTH 9% 178
KR BE 27F D88 WYMNESTHE 0% 208
RF s 27%&Hh D89 WYNESTH 9% k=2
KRBt 27F# D0 WYMNESTH 0% 28
KRt 27 HDI1T WPYNESTH 9% 3=
KRBk 27 D92 WYMNESTHE CES 45
KRF s 27%&Hh D93 WYNESTH 9% 55
KRBt 271F D94 WYMNESTHE 9% 6=
Rt 27 D95 WYNESTH 9% =
K= R BE 27D 105 WYMNESTHE 12% 68
KRF s 27&H#h D106 WYNESTH 12% 55
KR BE 271FH# D107 WYMNESTHE 12% 3=
RF s 27&HhdD108 WPYNESTH 12% 9=
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KRBk 28FHID11 WYMNESTHE 13% 12
RF st 28%& 130 WPYNEETH 2% 185
KR BE 28F D31 WYMNEETH 2% 178
KREFf 28%&Hh 32 WPYNEETH 2% 168
KRBt 28FH1 D33 WYMNEETH 2% 158
RF s 28%& 34 WPYNEETH 2% 145
KR BE 28FH1 D35 WYMNEETH 2% 128
REF s 28%&Hh )36 WpYNEETH 2% 9=
RF i 28 D37 WYUNEETH 25 =
REFf 28%&1h 38 WYNEETH 2% 65
KRBk 28F D39 WYMNEETH 2% 55
KRF s 28&Hh 40 WpYNEETH 2% 3=
K=k BE 28FHI D41 WYMNEETH 2% 28
KREF s 28F&Hh D42 WYNEETH 2% 15
KRBk 28F D44 WYMNEETH 3% 208
KRF s 28F&Hh D45 WPYNEETH 3% 198
KRBt 28FH1 D46 WYMNEETH 1% 238
KRt 28&Hh D47 WPYNEETH 1% 225
KRBk 28FH1 D48 WYMNEETH 1% 218
KRF s 28%&Hh )49 WPYNEETH 1% 198
KRBt 28ZFH1D50 WYMNEETH 1% 188
KRt 28 H D51 WPYNEETH 1% 178
KRBk 28F D52 WYMNEETH 1% 165
RF s 28%&Hh 53 WPYNEETH 1% 158
KR BE 28F D54 WwYMNEETH 1% 138
KREF s 28&Hh D55 WPYNEETH 1% 128
KRBt 28FH1 D56 WYMNEETH 1% 9B
KREF s 28F&Hh D57 WYNEETH 1% =
KRBk 28F D58 WYMNEETH 15 65
RFef 28&Hh D59 WYNEETH 1% 58
RF i f 28F 60 WYNE6TH 1% 45
KREF s 28 D61 WYNEETH 1% 35
KRBk 28FHID62 WYMNEETH 1% 28
REF s 28%&Hh D63 WPYNEETH 1% 15
K= R BE 28F D64 WYMNEETH 3% 165
KEF s 28& 70 WYNESTH 178 55
KR BE 28FHIDT1 WYMNESTHE 17%& 4=
RF s 28&Hh D72 WYNESTH 17%& 35
KRBt 28FHIDT3 WYMNESTH 17% 28
KRt 28& D74 WPYNESTH 178 1=
KRBk 28FHIDT6 WYMNESTHE 18% 95
KRF s 28 D77 WYNESTH 18% 188
KRBt 28F D78 WYMNESTHE 18% 178
Rt 34E D8 WYNESTH 1% 128
K= R BE 34FEHDI WYMNESTHE 1% 115
KRF s 35 D2 WYNESTH 4% 138
KR BE 35F D6 WYMNESTHE 1% VA=1
RF s 35& D7 WYNESTH 1% 108
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KRBk 35F DS WYMNESTHE 5% 55
RF st 35&FH D9 WYNESTH 5% 65
KR BE 35D 10 WYMNESTHE 5% 262
KREFf 35 HMD11 WPYNESTH 5% =
KRBt 35 HID12 WYMNESTHE 5% 258
RF s 35&Hh D15 WYNESTH 5% 245
KR BE 36 D5 WYNEITHE 13% 398
REF s 36E D6 WPYNEITH 13%& 4=
KRBk 36F DT WYMNESTHE 5% 15
REFf 36FH D8 WYNESTH 5% 25
KRBk 37FEMD 14 WYMREITH 13% 355
KRF s 37&H D14 WPYNEITH 13%& 365
K=k BE 37FEMD15 WYMREITHE 13% 3718
KF R BE 37&H D16 WwYNEITH 13% 385
KRBk 37F D20 WYMNEITH 13% H1E
KRF s 37EHD21 WwYNEITH 13% 405
KRBt 39FHD3 WYMNESTHE 5% 125
KRt 39& D4 WPYNESTH 5% 138
KRBk 40FEH D2 WYMNESTHE 5% 1=
KRF s MNFEH D2 WYNESTH 1% k=2
RF i fE 41 FEH D6 WwYNESTH 1% 25
KRt 41EHDS WPYNESTH 1% 108
RF b M FEH DI WwYNESTH 1% 95
RF s M D25 WYNESTH 5% 145
KR BE A1 FEHI D26 WYMNESTHE 5% 158
KREF s M D27 WYNESTH 5% 178
KRBt 42FHD?2 WYMREITHE 13%& 255
KREF s 42T H D3 WwYNEITH 13% 245
KRBk 42FHD4 WYMREITH 13% 295
RFef 42FH D5 WPYNEITH 13%& 228
KRBk 42FHD6 WYNEITHE 13%& 215
KREF s 2FHDT WwYNEITH 13% 205
KRBk 42F D10 WYMREITHE 13% 262
REF s 42T D11 WPYNEITH 13%& 2715
K= R BE 427 HID12 WYNEITH 13% 285
KF R BE 42%&Hh D14 WwYNEITHE 13% 325
KR BE 427 HID16 WYMREITH 13% 308
RF s 43T H D8 WwYNEITH 13% 158
KRBt 43FHDI WYNEITH 13%& 165
KRt 43 D10 WPYNEITH 13% 178
KRBk 45 D4 WYMREITH 13%& 95
KRF s 45 H D5 WwYNEITH 13% 108
KRBt 45 D6 WYNEITHE 13%& 8=
Rt 45 D57 WPYNEITH 13% 188
K= R BE 45ZH1 D59 WYMNEITH 13% 428
KRF s 45 H D61 WwYNEITH 13% 435
RF i f 45%Hh 063 WwYNEITH 13%& VA=t
RF s 45%&Hh D78 WPYNEITH 13% 485
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385
386
387
388
389
390
391
392
393
394
395
396
397
398
399
400
401
402
403
404
405
406
407
408
409
410
411
412
413
414
415
416
417
418
419
420
421
422
423
424
425
426
427
428
429
430
431
432

[ERET BERT
#HX *E
F4 #Eith BT = E5 wE

(%) (%)
KRBk 47FEHDI WYMNE2TH 19% 15
RF st 47 D33 WYNESTH 6% 1Me
KR BE 47FEH D57 WYMNESTHE 18% 3=
KREF et 47 D65 WPYNESTH 18% 15
KRBt 47 H D66 WYMNESTHE 18% 3=
RF s 47 D67 WYNESTH 18% 55
KR BE 47FH#DT0 WYMNESTHE 18% 138
REF s 47EHD T WPYNESTH 18% 1Me
KRBk 47FEHDT3 WYMNESTHE 18% 68
REFf 47 D74 WYNESTH 18% =
KRBk 59 M3 WYMREITH 5% 165
KRF s 59FHh D5 WPYNEITH 5% 188
RF b 64FHh M5 WwYNESTH 1% 35
KREF s 64FH D6 WYNESTH 1% 45
KRBk 64 D10 WYMNESTHE 1% 8=
KRF s 64FHD11 WYNESTH 1% 5
KRBt 647 HID13 WYMNESTHE 1% 388
KRt 64% 22 WPYNESTH 1% 335
KRBk 647 HI D31 WYMNESTHE 1% 208
KRF s 118219 WYNETITH 1% 15
KRBt 121 #h3 WYMNETTHE 2% 145
KRt 121713 WPYNETTH 2% 158
KRBk 122%#h2 WYNETTHE 2% 58
RF s 122% 3 WPYNETTH 2% 35
KR BE 130118 WYNETITHE 10%& VA=1
KREF s 130110 WPYNETTH 102 55
KRBt 44815 WYMNE2TH 0% 138
KREF s 448 D20 WwYNE2TH 8% =
KRBk 4482t 21 WYMNE2TH 8% 45
RFef 448F D23 WYNE2TH 9% 1Me
KRBk 448&th 24 WYMNE2TH 8% 3=
KREF s 448 D25 WwYNE2TH 8% k=2
KRBk 448t 27 WYMNE2TH 0% 165
REF s 448 Hh (D28 WwYNE2TH 9% 145
K= R BE 448 31 WYMNE2TH 8& 6=
KF R BE 4541 D15 WYNE2TH 1% 95
KR BE 454 D16 WYMNE2TH 1% 138
RF s 454FEH D17 WwYNE2TH 1% 178
KRBt 45419 WYMNE2TH 1% 188
KRt 454F )23 WYNE2TH 1% 265
KRBk 4542 25 WYMNE2TH 1% 15
KRF s 4541 ()26 WwYNE2TH 10%& k=2
KRBt 45427 WYMNE2TH 10%& 25
Rt 454F 0D 28 WYNE2TH 10%& 208
K= R BE 4542 29 WYMNE2TH 10%& 58
KRF s 4541 D30 WYNE2TH 10%& 198
KR BE 454 D31 WYMNE2TH 10%& 65
RF it 454F D32 WYNE2TH 102 178
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433
434
435
436
437
438
439
440
441
442
443
444
445
446
447
448
449
450
451
452
453
454
455
456
457
458
459
460
461
462
463
464
465
466
467
468
469
470
47
472
473
474
475
476
477
478
479
480

[ERET BERT
#HX *E
F4 #Eith BT = E5 wE

(%) (%)
KRBk 45421 D33 WYMNE2TH 10%& VA=1
RF st 454 D34 WwYNE2TH 10%& 165
RF i f 454F#10D35 WwYNE2TH 10%& 9E
KREF et 454F 0D 36 WYNE2TH 10%& 128
KRBt 454 D37 WYMNE2TH 1% 12
RF s 4541 D39 WwYNE2TH RE:S 25
KR BE 4541 40 WYMNE2TH hE:S 198
REF s 454 Hh D41 WYNE2TH RES 45
KRBk 454242 WYMNE2TH 1% 178
REFf 4541 D43 WwYNE2TH RE:S 55
KRBk 454Fth D44 WYMNE2TH 1% 165
KRF s 454FHh D45 WwYNE2TH ES =
K=k BE 454 46 WYMNE2TH 1% 145
KREF s 454D AT WwYNE2TH 1% 95
KRBk 4542 1h D48 WYMNE2TH 1% 1=
KRF s 4541 D49 WwYNE2TH 12% k=2
KRBt 454 M50 WYMNE2TH 12% 208
KRt 454 Hh (D51 WYNE2TH 12% 28
KRBk 454 D52 WYMNE2TH 12% 198
KRF s 4541 D53 WwYNE2TH 12% 35
KRBt 454 & D54 WYMNE2TH 12% 178
KRt 454FHh0D55 WYNE2TH 12% 55
KRBk 454 D56 WYMNE2TH 12% 168
RF s 4541 D57 WYNE2TH 12% =
KR BE 454 D58 WYMNE2TH 12% 145
KREF s 454F D59 WwYNE2TH 12% 85
KRBt 45421 D62 WYMNE2TH 0% 6=
KREF s 4541 D63 WwYNE2TH 9% 55
RF b 454F D64 WUAE2TH 9% 35
RFef 454F 0D 65 WYNE2TH 9% 2=
KRBk 45421 D66 WYMNE2TH 9% 15
KF R BE 4541 D67 WwYNE2TH 13% 235
KRBk 45421 D68 WYMNE2TH 13% 218
REF s 4541 D69 WwYNE2TH 13%& 205
K= R BE 454 D71 WYMNE2TH 13% 165
KF R BE 454D T2 WYNE2TH 13% 145
KR BE 45473 WYMNE2TH 13% 138
RF s 454FHD T4 WwYNE2TH 13% 128
KRBt 45475 WYMNE2TH 13% 108
KRt 454 AD76 WYNE2TH 13% 8E
KRBk 454 D77 WYMNE2TH 13% VA=1
KRF s 4541 D78 WwYNE2TH 13%& 55
KRBt 45479 WYMNE2TH 13% 35
Rt 4543 0D 82 WYNE2TH 9% =
K= R BE 454101 WYMNE2TH 13% 15
WwYME 13512 WYL E2TH IE 15
WYL E 1&Hh D4 WYMNE2TH 6% 15
WwYME 1514 WYL E2TH 6% 25

10/ 13 R—=T




CEE]

COT—EE EERTERAREDEREZFDABICEH SN TV ERICHTIEBRRERBEOEBRRTESEHRELS:

EERTHFIEER (IB-%)

LT, THOF M GhE) ICHIELI-ERRTESTIHYEE A,

481
482
483
484
485
486
487
488
489
490
491
492
493
494
495
496
497
498
499
500
501
502
503
504
505
506
507
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510
511
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513
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516
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522
523
524
525
526
527
528

[ERET BERT
#HX *E
F4 #Eith BT = &5 wE

(%) (%)
WY E 2FHD5 WUYNE2TH 142 15
WwYUSE 2%&h D6 WwYNE2TH 15% 15
WwYHMNE 27518 WYMNE2TH 163 15
UL E 2&Hh D11 WYNE2TH 18% 15
WY E 2% 110 WUYNE2TH 178 15
WwYME 2514 WYNEITH 2% 15
WYL E 4D 1 WYNEITH 1% 15
WYL E 5& D1 WPYNEITH 5% 15
WY I 6 HD1 WUYNEITH 67 15
WYL E 62 WUMEITH 6% 25
WYL E 6 D3 WUYNEITH 67 35
WYL E 6&Hh D5 WPYNEITH 6% 55
WY E 6 Hh D6 WYNEITH 67 65
WYL E 6FHh D7 WUMNEITH 6% =
WYL E THBHD1 WUYNEITH LS 15
WYL E & D2 WUMNEITH 1% 25
WY E 1EH# D3 WUYNEITH IS 35
UL E 1&Hh D4 WPYNEITH % 45
WwYH I 1EH# D5 WUYNEITH IS 55
WwYUSE 1&Hh D6 WUMNEITH 1% 65
WY E 1EH# D7 WYNEITH IS 5
UL E 1&EH DS WPYNEITH % 85
WY E 1EH# D9 WYNEITH LS 95
WYL E 7&H D10 WYL EITH 1E 105
WYL E TEHD11 WYMREITHE IS 1=
WwYME 1EHD12 WYMNEITHE IS 125
WwYMNE 7EHD13 WYNEITH 1% 138
YN E 1HEHhD14 WYL EITH 1E 145
WwYMNE TEH D15 WYMREITHE 1% 158
WwYME 1EH D16 WYMNEITHE IS 165
YN E 1EH# D17 WYNEITHE 1% 178
WYL E 1&Hh D18 WYL EITH 1E 185
WwYMNE TEHD19 WYMREITH IS 195
WwYME 1&E D20 WYNEITHE IS 205
YN E 1&E# D21 WYMREITHE 1% 218
WYL E 1EH D22 WYNEITH 1ES 228
WYL E 8FEHD1 WUYNEITH 8% 15
UL E 8&th 2 WUMNEITH 8% 25
WYL E 8FEHD3 WUYNEITH 8% 35
UL E 8&th D4 WPYNEITH 8% 45
WY I 8FE D5 WYNEITH 8% 55
WYL E 8&th 6 WUMNEITH 8% 65
WY E 8FEHDT WYNEITH 8% =
WYL E 8&th D8 WPYNEITH 8% 85
WY E 8FEHh D9 WYNEITH 8% 95
WYL E 8EH/D10 WYL EITH 8% 105
WYL E 8&EHh D11 WwYNEITH 8% 15
WwYME 8&EHhM12 WYMNEITHE 8% 125
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529\ YH 8&EM D13 WpYNEITH 8% 138
530|P UM E 8&EHhM 14 WYNEITH 8% 145
531 YL E 8&EHIMD15 WYNEITHE 8% 155
532|YUHME 8&EHMD16 WYMNEITHE 8% 165
533|RpUN R 8H/H D17 WYHNE1ITH 8& 175
534|PY M E 8&EH#M18 WPYNEITH 8% 185
535\ UM E 8&# (D20 WYNEITHE 8% 205
536|PYUME 8&EHhM21 WYMNEITHE 8% 215
537\ YHE 8&E (D22 WwYNEITH 8% 228
538|PYUME 8&#hM23 WwYNEITH 8% 235
539 UH K 8FHh (D24 WUYNEITH 8% 245
540|PY M E 8&E#hM25 WYNEITE 8% 255
541\ YHE 8 (D26 WwYNEITH 8% 262
542|pY M E 8&E D27 WwYNEITH 8% 218
543|YH 8&#h(M28 WYMREITH 8% 285
544|pY M E 8&H#hM29 WPYNEITH 8% 295
545\ YhSE 9B H D1 WYNEITH 0% 1=
546\ YA K 9EHh D2 WPYNEITH 0% 25
547\ YH 9 D3 WYNEITH CES 3=
548|PY M E 9FE D4 WwYNEITH 9% 45
549|pY M E 9 D5 WYMNEITHE 9% 58
550\ YA R 9EHh D6 WPYNEITH 0% 65
551|RpUh 9T /DT WYL EITH 9% =
552|PY M E 9% h 8 WPYNEITH 9% 8&
553| YA 9FHh D9 WYNEITH 9% 95
554|PY M E 9FE MM 10 WYMNEITHE 9% 105
555\ YA OFHD11 WwYNEITH CES 115
556|KPY M 9FE D12 WwYNEITH 9% 125
557\ UM E 9FEHh D14 WYMNEITHE CES 145
558|KP UM E 9FE M D15 WYMNEITHE 9% 155
559 YA OFEH D16 WwYNEITH 0% 165
560|KPY M 9F D17 WPYNEITH 9% 175
561|YUA T 9FH (D18 WYMREITH CES 185
562|PYUHME 9FEHdM19 WYNEITHE 9% 195
563| YA E 9FEH D20 WwYNEITH CES 208
564|KPYME 9F 21 WYNEITH 9% 218
565\ YA 9FHh (D22 WYMREITH CES 225
566|KPYU M E 10&H D2 WwYNEITH 10%& 25
567\ YA E 10%&Hh D3 WwYNEITH 10%& 3=
568|p YN 1054 WYHALEITH 10% 45
569|p YA E 10&Hh D5 WwYNEITH 10%& 58
50| YUME 10&H D6 WPYNEITH 10%& 65
571|pYUHE 11&HhD1 WYHANEITH "E 15
52| YUh R 1152 WYHALEITH 1% 25
573| YA E 11&Hh D3 WpYNEITH 1&F 3=
574U M E 11&Hh D4 WYNEITH 1% 45
575 UM E 11&EH D5 WYHMNEITH E:S 58
576 YUN K 11&Hh6 WYHALEITH 1% 65
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577\ YH R 11&Hh a7 WpYNEITH 1% =
578| UM E 11&#h D8 WYMNREITH E:S 8=
5719|p YN R 11&EHD9 WYHMNEITH "E 95
580 YUN 11&EHD10 WYL EITH 1% 105
581 YUME 11&HD11 WYNEITHE 1% 1=
582|PYHME 11&H#hD12 WYANEITH 1% 125
583 UM R 11&H#D13 WYMNEITH IRE:S 135
584|p YN R 1M&EHD14 WYL EITH 1% 145
585|P UM E 11&HD15 WYNEITHE 1% 158
586|KPYU M E 11&H#hdD16 WYMNEITH hE:S 165
587|P YN E 11FEHD17 WYMREITH 1% 178
588|p UMK 11&EHD18 WYL EITH IRE:S 185
589|P UM E 11&#D19 WYMREITHE 1% 195
590|PY M E 11&1#h 20 WYMNEITH 1% 208
501 UM E 1% D21 WYMREITH 1% 215
592|YME 11&#h 22 WYMNEITH 1% 2285
593| YA 12%Hh D1 WpYNEITH 128% 1=
54| YUh R 12% 2 WYHALEITH 12% 25
595\ Yh 12%&1h D3 WwYNEITH 128% 3=
596|KPY M E 12%& D4 WYMNEITH 12% 45
597\ YA E 12%&Hh D5 WwYNEITH 12% 55
598|p YN K 12%1h 6 WYL EITH 12% 65
599|pYh 12&Hh a7 WwYNEITH 128% =
600|KPY A 12%& D8 WYMNEITH 12% 8&
601|RpYUNME 12%& D9 WYHALEITH 12%F 95
602|p YN 12&H D10 WYL EITH 12% 105
603|P UM E 12%H D11 WYNEITH 12% 1=
604|KPY M E 12& 12 WYMNEITH 12% 125
605|P UM E 12%#hMD13 WYMREITHE 12% 135
606|P YN 12&H D14 WYL EITH 12% 145
607|PYUME 12%&#hD15 WYNEITHE 12% 155
608|KPY M K 12%&Hha16 WYMNEITH 12% 165
609|KP UM E 12%#D17 WYMREITH 12% 175
610|PYUME 12%&Hha18 WYNEITHE 12% 185
611|PYUME 12%&#hMD19 WYMREITHE 12% 195
612|PYHME 12%&1h 020 WYMNEITH 12% 208
613|PYUME 128 D21 WYMREITH 12% 215
614|PYUHME 12&Hh @22 WYMNEITH 12% 2285
615|P UM E 12%&#h D23 WYMREITH 12% 235
616|pUNE 12&Hh D25 WYHALEITH 12% 255
617|PYUME 12%#h D26 WYNEITH 12% 265
618|PUME 12&Hh D27 WYNEITH 12% 218
619|P UM E 12%#h D28 WYMREITHE 12% 285
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